

Name: DPURA CLINTON CHUMUDURIGEM, Matric No: 119/ENG01/019

Course: MAT104, General Mathematics III, DEPT. Aeronautics

Date Submitted: 19th April, 2020 Lecturer: Dr. Oyelami

1. find the derivative of the following using the first principle

$$(a) y = \sin\left(\frac{3}{x^2}\right)$$

or Solution

Let  $y = \sin 3x^{-2}$  and let  $\Delta y$  and  $\Delta x$  be small increments in  $x$  and  $y$  respectively. using the first principle

$$y + \Delta y = \sin 3(x + \Delta x)^{-2}$$

$$\Delta y = \sin 3(x + \Delta x)^{-2} - y \quad (\text{collecting like terms}) \text{ since } y = \sin 3x^{-2}$$

$$\Delta y = \sin 3(x + \Delta x)^{-2} - \sin 3x^{-2}$$

$$\Delta y = \sin\left(\frac{3}{(x + \Delta x)^2}\right) - \sin 3x^{-2}, \text{ let } C = \frac{3}{(x + \Delta x)^2} \text{ and } D = 3x^{-2}$$

$$\text{Recall that } \sin C - \sin D = 2 \cos\left(\frac{C+D}{2}\right) \cdot \sin\left(\frac{C-D}{2}\right)$$

$$\Delta y = \sin C - \sin D$$

substituting,

$$\Delta y = 2 \cos\left[\frac{\left(\frac{3}{(x + \Delta x)^2}\right) + 3x^{-2}}{2}\right] \cdot \sin\left[\frac{\frac{3}{(x + \Delta x)^2} - 3x^{-2}}{2}\right]$$

$$\Delta y = 2 \cos\left[\frac{3x^2 + 3(x + \Delta x)^2}{2x^2(x + \Delta x)^2}\right] \cdot \sin\left[\frac{3x^2 - 3(x + \Delta x)^2}{2x^2(x + \Delta x)^2}\right]$$

$$\Delta y = 2 \cos\left[\frac{6x^2 + 6x\Delta x + 3\Delta x^2}{2x^2(x + \Delta x)^2}\right] \cdot \sin\left[\frac{-6x\Delta x - 3\Delta x^2}{2x^2(x + \Delta x)^2}\right]$$

divide through by  $\Delta x$

$$\frac{\Delta y}{\Delta x} = 2 \cos\left[\frac{6x^2 + 6x\Delta x + 3\Delta x^2}{2x^2(x + \Delta x)^2}\right] \cdot \sin\left[\frac{-6x\Delta x - 3\Delta x^2}{2x^2(x + \Delta x)^2}\right]$$

multiply the numerator and denominator by  $\frac{1}{\Delta x}$

$$\frac{\Delta y}{\Delta x} = \frac{1}{\Delta x} \times 2 \cos\left(\frac{\frac{6x^2}{2(x + \Delta x)^2} \times \frac{1}{\Delta x} + \frac{6\Delta x}{x^2(x + \Delta x)^2} \times \frac{1}{\Delta x} + \frac{3\Delta x^2}{2(x + \Delta x)^2}\right) \cdot \sin\left(\frac{-6x - 3\Delta x}{2(x + \Delta x)^2}\right)$$

$$\lim_{\Delta x \rightarrow 0} \frac{\Delta y}{\Delta x} = \cos\left(\frac{3x^2}{x^2(x + 0)^2} + 0 + 0\right) \cdot \lim_{\Delta x \rightarrow 0} \sin\left(\frac{0 - 0}{2}\right) \times \frac{0}{2} = 0$$

$$\frac{dy}{dx} = \cos\left(\frac{3x^2}{2x^2+1}\right)$$

$$\frac{dy}{dx} = \frac{\cos 3}{x^2} \Rightarrow x = 1$$

b)  $y = \frac{1}{x^2}$

Solution

$$y = \frac{1}{x^2} \Rightarrow y = 4x^{-2} \quad \text{let } 4x \text{ and } 4x \text{ be small constants as } y \text{ and } x \text{ respectively}$$

$$dy + y = 4(x+dx)^{-2}$$

$$dy = 4(x+dx)^{-2} - y \quad \text{since } y = 4x^{-2}$$

$$dy = 4(x+dx)^{-2} - 4x^{-2} \quad dy = \frac{4}{(x+dx)^2} - 4x^{-2}$$

$$dy = \frac{4}{(x+dx)^2} - 4x^{-2} \quad \text{by expansion}$$

$$dy = \frac{4}{(3x^2 dx + 3x dx^2 + dx^2 + x^2)} \quad \text{simplifying}$$

$$dy = \frac{4x^2 - 4(3x^2 dx + 3x dx^2 + dx^2 + x^2)}{x^2(3x^2 dx + 3x dx^2 + dx^2 + x^2)}$$

$$dy = \frac{(4x^2 - 12x^2 dx - 12x dx^2 - 4dx - 4x^2)}{x^2(3x^2 dx + 3x dx^2 + dx^2 + x^2)}$$

$$dy = \frac{-12x^2 dx - 12x dx^2 - 4dx}{x^2(3x^2 dx + 3x dx^2 + dx^2 + x^2)}$$

$$\text{let } f = 3x^2 dx + 3x dx^2 + dx^2 + x^2$$

$$\therefore dy = \frac{-12x^2 dx}{x^2 f} - \frac{12x dx^2}{x^2 f} - \frac{4dx}{x^2 f}$$

$$dy = \frac{-12 dx}{x f} - \frac{12 dx^2}{x^2 f} - \frac{4 dx}{x^2 f}$$

multiply both sides by  $\frac{1}{x}$

$$\frac{dy}{dx} = \frac{-12 dx}{x^2 f} = \frac{1}{dx} - \frac{12 dx^2}{x^2 f} \times \frac{1}{dx} - \frac{4 dx^2}{x^2 f} \times \frac{1}{dx}$$

$$\therefore \frac{dy}{dx} = -12 \quad \frac{120x}{x^2(2x^2+3x+2)} \quad \frac{40x^2}{x^2}$$

$$\lim_{x \rightarrow \infty} \frac{dy}{dx} = \frac{-12}{2(4+4+2)} = 0 = 0$$

$$\lim_{x \rightarrow \infty} \frac{dy}{dx} = \frac{-12}{2^4} = -12 \cdot x^{-4}$$

$$\therefore \frac{dy}{dx} = -12 = \frac{-12}{x^4}$$

2. Find the integral of the following

(a)  $\int \frac{dx}{x^2+25}$

$$\int \frac{dx}{x^2+25}$$

Solution

$$\int \frac{1}{x^2+25} dx = \int \frac{2x}{x^2+25}$$

$$x = 5 \tan \theta$$

$$\frac{dx}{25} = 6 \sec^2 \theta, dx = 6 \sec^2 \theta \cdot 25$$

$$x^2+25 = 6^2 \tan^2 \theta + 6^2 = 6^2 (\tan^2 \theta + 1)$$

factoring after substituting

$$\int \frac{6 \sec^2 \theta \cdot 25}{25 \cdot 6^2 (\tan^2 \theta + 1)} = \int \frac{25}{6} = \frac{1}{6} \int d\theta = \frac{1}{6} (\theta) + C$$

$$\text{but } \theta = \tan^{-1} x/6$$

$$\therefore \frac{1}{6} \tan^{-1} \frac{x}{6} + C$$

(b)  $\int \frac{dx}{x^2+13}$

Solution

$$\int \frac{dx}{x^2+13} = \int \frac{1}{x^2+13} dx$$

$$x = \sqrt{13} \tan \theta$$

$$\frac{dx}{\sqrt{13}} = \sqrt{13} \sec^2 \theta \quad \therefore dx = 13 \sec^2 \theta$$

$$\frac{dx}{13}$$

$$\therefore x^2+13 = 13 \tan^2 \theta + 13 = 13 (\tan^2 \theta + 1) \quad \text{by factorization}$$

Substitute!

$$\int \frac{dx}{x^2+13} = \int \frac{d\theta \sqrt{13} \sec^2 \theta}{\sqrt{13} \sec^2 \theta} = \int \frac{d\theta}{\sqrt{13}} = \frac{1}{\sqrt{13}} \int d\theta$$

$$= \frac{1}{\sqrt{13}} (\theta) + C = \frac{1}{\sqrt{13}} (\theta) + C$$

$$\text{but } \theta = \tan^{-1} \frac{x}{\sqrt{13}}$$

$$\therefore = \frac{1}{\sqrt{13}} \tan^{-1} \frac{x}{\sqrt{13}} + C$$

ans